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is noted. The difference inthe two readings of micrometer screw gives
the width a of the rectangular slit in the position of just resolution
of two strips.

(8) The experiment is repeated for the strips of different separation.
(9) The least count of travelling microscope is noted and then

with its help, the distance b between the two consecutive strips
on the cardboard (or on the glass plate) is measured. Note that
this distance can also be measured with the help of metre scale if
travelling microscope is not given.

and

(10) Note the least count and zero error of the vernier callipers
then with its help, find the diameter d of the objective lens of

the telescope after removing the slit from it.

(11) Measure the distance D of the cardboard (or the glass

plate) from the objective of telescope, using a metre scale (or a
measuring tape).

Observations © (1) For the width a of the slit at just

resolution :

Pitch of the micrometer screw = ..... com,
Total number of divisions on the circular scale = .....
Least count of micrometer screw
Ritch
~ Total number of divisions on the circular scale

Reading of micrometer screw while closing Reading of micrometer screw while opening
the slit gradually the slit gradually | Mean WHT of
S. | When resolu- | When field of ~ Width of When light just When Width of slit a = f‘—zﬁl
No. tion just view becomes slit enters the field of | resolution just slit
ceases x; dark x, a; =x; ~ X, view x,' starts x,’ a=x'~x {on)
(cm) (cm) (cm) (cm) (cm) (cm)
1.
2
2 {
(2) For the separation b between the strips on the cardboard :
Value of one main scale division of travelling microscope x = .....cm
Total number of divisions on the vernier scale n = .....
Least count of travelling microscope = Nalpeloonsimain'soile d1yisionts - cm
g P€™ Total number of divisions on vernier scale 1 g
Reading of microscope Separation
S. Position of first strip Position of second strip betw?t:ilt)l:e oo foak
2
No. | M.S. reading | V.S. reading | Total reading | M.S. reading | V.S. reading | Total reading b=y, ~y; (cm?)
(in ¢cm) (in cm) »q (in cm) (in cm) (in cm) »; (in cm) (in cm)
1%
2%
Mean value of ab = ...... cm?
(3) For the diameter 4 of objective of telescope :
Value of 1 main scale division on vernier callipersx = .....cm. True diameter = Observed diameter — zero error (with sign)
Total number of divisions on vernier scale n = ..... = ....CI.
Least count of vernier callipers (4) Distance of cardboard from the objective of telescope
o Value of one main scale division x L T B e
~ Total number of divisions on vernier scalen (5) Wavelength of lightused A= ...... =.....cm. (From standard
Zero error = #.....cm tables).
M.S. V.S. | Total reading (Remember that 10-% cm = 1 A).
S.No. reading | reading | = diameter d Calculations : Substituting the mean value of ab and the
(in cm) | (in cm) (in ¢cm) values of d, D in the following expression, the resolving power
. In one direction can be calculated. 4D
| direction : o G |
, ;\Iong d-l ) Resolving power T20ab rad
. In one direction . , . .
Along L direction Result : Experimental value of resolving power of the given
i i telescope
3. In one direction & L aaR
Along L direction d
Mean observed diameter d = .....cm Theoretical value of resolving power = T2 rad~!

R
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Percentage error .

Percentage error : |
N Experimental value ~ Theoretical value < 100%

o Theoretical value
= ¥ %

(2) The strips on the cardboard should be vertical.
(3) To avoid the backlash error, the micrometer screw must

always be turned in one direction.
(4) The plane of the slit must be parallel to the cardboard.

(5) The width of slit at the position of just resolution must be
adjusted carefully.

Scanned with CamScanner



